
Multiply by Negative Powers of Ten (C)Find each product.
4.9332 × 0.01 = 2.03 × 0.001 =
7.231 × 0.1 = 6.39 × 0.01 =
4.429 × 0.01 = 2.1913 × 0.001 =
5.7 × 0.1 = 4.993 × 0.01 =
9.216 × 0.01 = 1.5 × 0.01 =
1.775 × 0.01 = 3.02 × 0.001 =
4.93 × 0.1 = 0.2868 × 0.01 =
4.091 × 0.1 = 2.2 × 0.01 =
0.5016 × 0.001 = 6.3223 × 0.01 =
0.81 × 0.01 = 4.131 × 0.01 =
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Multiply by Negative Powers of Ten (C) AnswersFind each product.
4.9332 × 0.01 = 0.049332 2.03 × 0.001 = 0.00203
7.231 × 0.1 = 0.7231 6.39 × 0.01 = 0.0639
4.429 × 0.01 = 0.04429 2.1913 × 0.001 = 0.0021913
5.7 × 0.1 = 0.57 4.993 × 0.01 = 0.04993
9.216 × 0.01 = 0.09216 1.5 × 0.01 = 0.015
1.775 × 0.01 = 0.01775 3.02 × 0.001 = 0.00302
4.93 × 0.1 = 0.493 0.2868 × 0.01 = 0.002868
4.091 × 0.1 = 0.4091 2.2 × 0.01 = 0.022
0.5016 × 0.001 = 0.0005016 6.3223 × 0.01 = 0.063223
0.81 × 0.01 = 0.0081 4.131 × 0.01 = 0.04131
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